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Example: Thisis a cheap and simple process. However, there are dangers.
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2.Mainly /'memnli/ (adv)
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Example: | don’t go out much, mainly because | have to look after the kids.
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3.Keep /ki:p/ (V)
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Example: Keep your room tidy.
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4.Salary /'szlsri/ (n)
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Example: The average salary for a teacheris $39,000 a year.
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5.Center /'sents$-ar/ (n)

Example: There was a table in the center of the room.
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* In Chandigarh, acity in northeastIndia, thereisanamazing garden. There

are tall rocks and small paths between them. There are waterfalls, pools,
and hundreds of sculptures. The sculptures are surprising because they
are all made from rubbish, like plastic jewelry, bottles, broken pots, sinks,
and pieces of electrical equipment. The garden has a surprising history too

because it was builtin secret! A man called Nek Chand started building the

garden in 1957. He chose some land in a forest near the city, where there

were rocks and a river. Nobody was allowed to build here, so Nek knew
that people wouldn’t see him there. Then he started to collect rubbish and
make the sculptures. Nek’s project was illegal, but for 18 years, nobody it.
However, in 1975, some government officials discovered it. By that time,

the garden was nearly 49,000 m2 in size. The government tried to destroy

the garden, but when the people in the city heard about it, they wanted to
keep it. In 1976 it became a public park. After that, Nek Chand received a
salary so that he could work in the garden full-time, and fifty more people
were employed to work there with him. People paid to visit the garden.
Nek put collection centers around the town so that he could make more

recycled sculptures.
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#* What is the passage mainly about?

1) A city in northeast India

2) An unusual garden in India

3) Regulations for building gardens in India

4) Nek Chad and his family

P diojS

In Chandigarh, a city in northeast India, there is an " d_a> >q >9 L

2wl P diujS M"cwl gl £ o=l wylac g Ll > "amazing garden

* Which of the following statements is true about Nek Chand?

1)He started to build the garden where there were rocks and ariver.
2) He encouraged people to build recycled sculptures around the town
3) Hewas arrested at firstand later he was given a salary to finish the project

4) He built the garden with the help of 50 workers in secret.
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subject +tobe + verb +ing
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Now (At present.For the time being.At the moment.This morning
:JUo
| am speaking. heis playing. you are listening. we are learning.
They are working
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A 50 Sl
Play playing
Study.....studying
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coming

taking
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Because
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Sheila was late for school because her car ran out of gas.
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I'm hungry because | didn’t eat breakfast.
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We cancelled the picnic because of the rain.
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because of the time, | went home.

As well as
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My sister is a painter as well as an excellent dancer.
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Physics contains a lot of science as well as math.
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Likewise
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The uniform looks like it belonged
to a museum collection.

I’'m going to complain to the
manager about this.

Chris attended to doing the
grocery shopping.

She asked to see Professor Fenton.

Let me appeal to you for your
help in this matter.

| answer to Ms. Smith.

She had to apologized to the
whole family.

He admitted to being late
three times.

“He talked to the boss for more
than an hour.”

“Turnto page Vv for adiagram of
the procedure.”
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verb + to

belong to. (bl (gl
complainto. ()5, slyicl
attend to. ;3 S dogs
ask to. (j34S cuwlg>)>
appeal to. ;S cuwlg>)>
answer to. (315 awb
apologize to. jpwlg> ji=o
admit to. ;popiy

talk to. U ()3 s

turn to. au (S p

"from* gaolslos +  Jwo
iS50 0ol il ) AT oo from (gaolsl Loy L dS el

benefit from.
Jl 3R dguw
distinguish from.
G 56 las

resign from.
JudS G plg=

Students benefit from listening
to news reports on the radio.

It was hard to distinguish one twin

from the other.

Albert resigned from her position after
17 years with the company.
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